3 I
Bl - MA_._._ ok
I3 or- = ol
5 a o E o g R
<k KD = & o
< oF mn O oH
I T L <
Q & o = ™ =D = . . RO D ~
o\ K N o, 80 ol ~N 2 ™
o I 0 oyr 4 oM B e X0 Ko
O_E,o_.% 2h o T Mg i o= M =0
Uil = Ite) Al K . o
=R Yo om & aro P Woow s o rl
il o n ™ =L B o 2 o1 :i
ST g g | e H omo™ T ol El
o e ® T 10 K o _ o <A
<0 a_ K% o T % u o X0 S A B0 Ew
Tme T= o3 s g o= F = ~
_wE T E Bo jE sz TN wog 20 5
T =10 o O Ml A L T OH = o0
54 S4 2w | oo o T & 30 W
sz JDw W P ok H ‘O OF %O 2K
T Tk T T " @l QU A
bz ®=2 S= x5 M~ x> Wae 5
I £ I <+ op & KO <+ o ~ Lo oF < ML oo R O
203 = wh L w ¥  Hgp B2 = £
FUhy oy 43 | nXoOgR O N T2 o =
K X g o MoF o, By = w12
w k™ — S op RO oo o KX oo o
._”._._ _|__| _._.__ M@.ﬁ |.I_A_| ..Inﬂ' M_.__E _u_.__/ |../I| » ..1o_._._
midu Tgos = = K W & m 70 o
Jon oo K = o = = = RN SR
WEm o mE o we Eo BF _m_hﬁm %0 X
ol Wr « 70 <N =0 w0 = = P (G mroo -
™ ol &l 0 = Al ol ol Bl B m.n_ul __Tmm

HRI XA BT M Annual Report

o

S|2RHEt

=

S
—

2012



— O = L
2T RYAY: 45 HA 795, 05 ha e ciof: o
AtRISEE Rl 01 53, HIYLE2 &0 A mleig U= 8EE = EIECE! 319 273 864
N - - — OO , s
4, ZONYS B ASHES UF R4S A2, 59 B XY SR 05372 663
At 26,155,000
QI= ALO|ZE H|QI mlslf =+ o6l T 375717 2,325 T 4,036,424
ST HRDFE Solf ZHXIE XY 67 0= 37571710 & oY F7|0|Y (2012 AFIZH|Z) 259,825,120
7 714,663,071
ol EfE fAl mlaf =51 o] A 16007t 7,680H
SAZH A Feed The Childreng S5l 0S| MEE M 52 crol: 2
- A = 2 AFl | 367,335,581
2 0124 e R = oIS HA Y| 25,172,658
—] i - — S oy 69,819,939
m— zlHtEY SE TAT K| 45 CiAr 28500 —] TH| 893,219
] 1M AT A ot ooHEg| = ol x| o]0 o = ’
= SAE 2HA _ASFOI Hef=lRA 2SO0 I_‘O}X_'ﬂfm sHiEse =M == %1710/ (2013 AFYZ=H|Z) 051441674
B Al Aol R RELICH AHOl O|R-R E2%, xpt2|XHe| ntSFE E A 14663 071
B o XNl sl ASEC) AED XIS TAAD SM, MO, #F 5 ¥ B= e
= 250 M0 Eaf IABUSIE o|FLzt &L —
. [ ] El-_?__l: ol
— — S
E EFXILIOF O{OF7|5Ab XIR: 23] CHAL 36T E mE=2 212,553,527
B EERILOF ZIM|Z[HESE XISl DRAtO] 25 00orS0| HEMeZ w=eE #E & 2= X A5SH 46,004,846
E= TS 2012 RAIY JISA 25T A Sof XR0| ol HA UL B Agas 6,642,600
— — 517 20,000,000
B wmern o asxm 49 9 02 = TIE
= CH7EX|e Algz|of oreole =58turt ‘31§LIE+ NS ness7t oS ¢ E AT 288,685,473
[ ] _ - _ _
= S S = HS O|SHA
— S YFIIERNBIERIE|Q A OIELIQ Stm S MRS XS - 78,650,108
-— — 367,335,581




